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(slope-intercept form; y' = mx + b)

Suppose the managers of a shopping center
want to upgrade their security system. Two

providers bid for the job.
ey Superiioeks will charge §S075 6 nstall
the equipment and then'§6100iperdayito

monitor the system and respond to alerts.

equipment and thed\SIFOS pErdayto

monitor the system and respond to alerts.

Both companies are reliable and capable,
so the choice comes down to cost.

WiREilSatenvill charge $995HGENStallthe | 425%(000 (7.95%18

y: lgx+1000

shows the bids for both companies.
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The cost of the security services from Super Locks and Fail Safe depends
on the number of days the company provides service. The graph below
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the graphs to estimate the answers {o these questions.
A U“1, FLWI the costs for the two companies be the same? 250 What is the

S cost? & §5500
2. F“\Ww will Super Locks cost less than Fail Safe? MpYe Jhan w&.ﬁ
3. Foryhatnumber of days wil Superlocks cost more than Fail Safe? €55 Yhan 250elays
4, Forwd\af‘wiﬂ Super Locks cost less than $60007 @ $hon 3%@
“‘93‘-5@@ i the cost of one year of senice rom{iliSay _ % $ 1500

B. For each company, write an equation for the cosl, c, for d days of security services.

L1'(100q Fail Safe.

Sometimes it is easier 1o graph equations of lines using two points. The following problem asks you to fill
in the first and last values for x and find the y-values,

Sam needs 10 rent a car for a one-week 1rip in Oregon. He is considering two companies /A% AUto Rental charges $160"
Plus $0.10 per mile} Zippy Auto Rental charges $80 plus $0.20 per mile.

Define your vanables:  rental cost:

hr Miles driven: _x_
FI' Equation for As Auto Rental J{iio X+1LO

=
Equation for Zippy Auto Rental: N = 2O X -t B!
’

ov

b. Complete the missing values in the table and then graph the equations. (include titles)
A¥AitoRentaly f <. 10x 416D

=4 Y e
. Miles [ _ Cost 3 } 320 /, ,
1‘ P T i - .Mﬁ“d y) 20 % 5 A+
! T | 24D . Iblicce)+ 2
; 1001w f ga
"5 —y ’ = - s 2
Zippy Wi Resall Y = - 207+ 0 < Mo
= Miles RH== N Ot o f -
' 0 L R i
| 1000 230 2olima 440 g 1201
'x-a'_nw&
1) Approximate the point of intersection (m 2“03 28 -
2) Vinhat does the point of intersection mean 1o the
stuation? (Include what each value means, what it 49
means it mote miles are travelled and what It mesns if 150 300 450 600 7 o
lewer miles ate traveled |

Foc @mles Jlacost iy Wiles. Dewven Ox
5240 Lor boih_co..’)‘_ nizs. o mote tha §O

__m‘.lé) A‘*i“ L¢$S l,f ___"!‘;_"'_._F‘o{ k55 J‘in mv‘l".‘,
2ippf Corls less,
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"": xample 1: — "f‘_'“ ""'\f =
| TaxiCompanyA Taxi Company B —1
_You are visiting Baltimore MD, and Taxi Company You are visiting Baltimore MD, and ‘ﬁ'a’i&;eompaw.

lcharees | S5 Tor slngthetaﬂandan

["enadditional S0.75'permile. Write an equation additior )permile” Write an equation that
‘that you could use to find the cost of a taxi ride in you could use to find the cost of a taxi ride in
Baltimore, MD. = Baltimore, MD. X y
X y
X =thes of miles _\1_=the cost. 2 X =the# of miles and_ﬁ:the cost.0 5
Equation: : — ¢
15(;) q = 5%+ A Equation Y Z.506+5 10 |0 "
Graph both equations on the following grid. ‘Use an in | of 1 on both axes.
oy Taxi Avs. Taxi B j'g 1) Name the point of intersection: (: i,! ﬂ
*’.’ A o 2) What does the point of intersection thean to the
u — situation? (Include what each value means, what it
?, P means if more miles are travelled and what it
,/ 7 means if less miles are traveled.)
Total & 7

N\

cost 5 < For_both tmpences , Y hiel oot
I ' (5 $9 o 5% miles_(ompay
: A s less expensve. Rv lessdag,

0 1 2354 3. ﬁ;’rﬂ!—r"é _Mr_bu}_fo_mgm./_b Cosés _

Number of Miles (.e Ss. fov over %‘mﬂ.cs-

Example 2:
" Brady the Plimber

Brady, a plumber, charges @fee'6f 81206 make a Valeria, a plumber, charges 0 make a
house call. He also charges$10.00/an Hourfdr labor. house call. She also charges r labor,
Write an equation that you could use to find the Write a equation that you could use to find the amount
amount.Brady charges for a house call based on the Valeria charges for a house call based on the number of
numberof hours of labor. ] o hours of laBor.

= # of Hours = the cost. o |20 X = #of hours = the cost. % I Y

ion: - : — o E

Equation \/ = ‘ X + 2.0 z fi Equation \/- ‘Sx +1 00 =

. "1—5"4-01

o
—K'Graph both equations on mlo'ﬁogw?ﬁg grid. Use an Interval of 1 on the x-axis and .axis.
Plumber Bills
:wf‘ I ' ] I I J% 1) Name the POlﬂl Of lntersectlon:




